‘ ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

POWERED BYIﬁ

ENDURA.

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R = 7 O 9
The Fiberglass Door system described herein complies with the 2018 Intemational
Residential Code (IRC), Sections R301 & Ré09 and the 2018 Intemational Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
anatysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Astragal details (Ultimate Trilennium)

Door panel details {lip lite insert glazing)

Door panel details {flush glazing)

Horizontal cross sections
Vertical cross sections
Frame anchoring

N[N D WIR ] -

74" MAX. O.A. FRAME WIDTH

98" MAX, O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A, FRAME HEIGHT {OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FlL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—-11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:
Y

LFS
LFS
B

11/11/21|UPDATE TO 2018 IBC/IRC CODE
5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

10/08/18|ADD FLUSH_ GLAZING

2 {10/27/16|ADDED THRESHOLDS

NOJ DATE

~—

4

L3

REVISIONS

ATE: 12/4/13

scAE:  N.T.S.

DWG. BY: JK

XX | LIPLITEINSERT | INSWING +45.0 -45.0
XX | LIP LITE INSERT | OUTSWING +55.0 -55.0
XX | FLUSH GLAZED | INSWING +50.0 -55.0
XX | FLUSH GLAZED | OUTSWING +50.0 -50.0

CHK. BY: LFS

DRAWING NO.:
TX—4416

SHEET _1 oF 7

@ 20713 R.W. BUILDING CUONSULTANTS INC.



‘ON SINVLINENDOD aNIging °

MM ELOZ O

TR SNSRI o o (nnTIaL L) g — SIv0 oN
SHVI3q 199valsy S47] 34N1dv0 Nid vOvdLSY MIN aav| GL/z0/S] | clulx|| © 7_
. * bl =] SUO . ol
geace 14 oomibA OCZ xo8 -o'd \SV@. "ATEW3SSY 80 Livd |'S97 SqioHs3gHL_aaaaviei/zz/otl z | 5| |7 . 3|8
"ONI ‘SINVLINSNOD ONIGTING S41 ONIZv19 HSM4_aav|gL/80/0L] € || BER 2_
S41| 3000 JdI/0al 8i0Z oL Avadnliz/ii/ii] v |—| . |5 Ele &=
_SZLYOLE T'd SvXal YANAN3 i w slelZ i
3'd PSS " UOpUA]  :Ag pedndedd spuswinoog :10NA0Yd K m i
« WOLLOE
il
ARAAS p 4 e
I e TN =
fdeaen .wTwOm W Sameaeedtt T .n.hu —
% OIS HE 1 ~ =
) deeer st #\M S o e &
CRN - (Y- - S
GF g T &
LINGA EFaiTe ] | 892
| c
Kol
| AU
ma = [Ze]
o f R 0B
N % T8
o S * 5
S <
to
0 S
m -
>
o
0 )
s Z
5| & _— 2
o~ —
r~ <C =
O <
s S
8 Z o .
R v o £ W
Q < — Or
] “ z << Sy
o 2 2 5=
Q @ T 2 <
Zz = &
< a
Q.
: »
o) o
3 S
(¥s)
&
o
o~
o™
il _
dCL

Upper Bolt Sleeve
{Aluminum)

............

—

3

<

874

T|l

V)

<

g -

= - e\l psee

2% 2z

T 835 SE

o 2 r@ m - o

p SLE o< =

> Q9 o 3~ (%4

3 - 3 o 2 ! -
2 - 00

=g o< Ll

= © m = b

2 *=z <

E ) =

2 5

\ oD

iy -} .‘.,.‘....W\vl! - l\mfhl'mﬁmi

L P sl

BMP9L'§LIp-X L\sBumelq - D\pazejo o4 oidiseld 602-4d - IQL\SUI JO 1daq sexa) - \ININVINYI BINpUI\sIuaID\Z



07— = 37 i
04" - EXTERIOR e 0.4" oy
~ At 8 g b3
L B T , - ; ? 5% B Z?
o au gm 24
. = k. o Nk
o = X S o c 3 Eé 2 L=
ﬂ - o - §g g 8 % g%
, . = E S
,\,V . , _ / \ $ TOP RAIL T 388 gg
(COMP. 2on kb
STILE (LVL) INTERIOR CAP (PVC ! 5 88y g8
CAP (PVC) STEEL REINFORCEMENT ~ LATCH STILE {LVL) (PVC) 9 9%2 .°
] 50¢ & M
/ 1"\ HORIZONTAL CROSS SECTION e BIE 28
#6 X 1-1/2" FIBERGLASS L NN ég
35.75" MAX. PANEL ___, S °
WIDTH 21" MAX. INTERIOR —— 1/2" OVERALL GLASS THK. RS
P D.L.O. WIDTH m eos e S
SN —— 1/8'TEMPERED GLASS EARERE gé
I L
§ p ] - E &
~l ) \ AR SPACE L7 s QE
/ 3 cop =d
10N Vi - ,‘,\!}!, 1/8" TEMPERED GLASS 3 § %’g
W ! : 4 EXTERIOR STEEL SPACER q “‘ § ks
< I
, Q'SO SEALANT @\- e o 8
#6 X 1-1/2" PPH SMS LOW TACK SEALANT S o| %
! INTERIOR \ EXTERIOR 8 -
o EXTERIOR
5 = <t @ GLAZING DETAIL , & &
] o =z Lip Lite Insert Glazing “
x o 0O il d ke
i T 5= S
Z o] o O W
" fa) L 8 E
: Z =T AN 8l | 15
= £ = gl Is
L Y L2 w
FOAMCORE || """~ 7 o|5SE &
0T : LT R85
? E: I S 1%
G = 5 e . ozl |x
/ T © a; Lt mEIER
/ T oa Hldalz
. /4// . ‘ . . t —i '4 ot §8§8
T T e — ~ A 21222
325" f 7 A g SEER
. —»l S ? ". ‘». . * }\k( L
(TYP) 1 RS . TN
RPN | }gggé
2 ) : . ) Lol £ £ N
@ ODL LITE FRAME —1.38" —— T <|mlal-[S
BOTTOM RAIL— |- ; DATE: 12/4/13
_____DOS:; 12 QNEL . S;); lilTEFRAME (COMP.) e b 3 scat:  N.T.S.
Fiberglass , olypropylene Dwe. B:  JK
‘ CHK. BY: LFS
" (2" VERTICAL CROSS SECTION DRAVING RO
DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS) 3/ TX—4416
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) TS
. SHEET _ 3 oF _7_

Z:A\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

© z013 R.W. BUILDING DONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

NYLON SCREW (3" FROM ENDS & 16" O.C. )
INTERIOR
\ INIERIUR
R
STILE [PVC) A
/ EXTERIOR
DOOR SKIN STILE
STEEL REFORCEMENT REINFORCEMENT
(0.125"X 1.5 X 84" (WOOD)
m HORIZONTAL CROSS SECTION
\4/
3575 MAX. PANEL __,
WIDTH
25" MAX.
172" GLASS BITE

D.LO.WIDTH |
q

I

95.25" MAX. PANEL HEIGHT
79" MAX. D.L.O. HEIGHT

(2
\4/

DOOR PANEL

Plastpro
Fiberglass

DOOR SKIN: FIBERGLASS (0.075" MIN. THK.)
FOAM CORE: POLYURETHANE (1.9 PCF MIN.)

— 58" OVERALL GLASS THK.

L 1/8" TEMPERED GLASS

™~ AIRSPACE
1/8" TEMPERED GLASS

ALUM SPACER
GLAZING TAPE

C) GLAZING DETAIL
Flush Glazing

)

. GLAZING BEAD
PVC

—-‘ 07"[+

TOP RAIL — |
(PVC)

RAL — |

REINFORCEMENT
(WOOD)

-—] 107" j=—

L’ 1.75" —=

|| ~FoAmcoRe

| BOTTOM RAIL

(PVC)

/" 2"\ VERTICAL CROSS SECTION

&/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

9
)
L=
aN
S
> > md
2 B <
S -]
H oS
A o
< 8&:

(6]

3 o

S &

& &
n|wln|nls
I |5
wl | |E
a S
o o
© <
o G
x =z
Blolul| 2

o
o533 [©
=301F| 2
80‘@{7, |
olx|x< 2
wi
[ 1T T -l
<| -l
Sialgio
alalala
S|l
PN bd 4 L
\ Aot
:§Eb§

(=]
S
+|mfef=1S

DATE: 12/4/13

Scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4416

SHEET 4 ofF _7

© 2013 R.W. BUILDING CONSBULTANTS ING.



ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

EXT. SHEATHING \ J
il

174" MAX.

SHMSPACE |

DOOR PANEL —\

2X FRAMING
[ (G >=0.42)

; : / DRYWALL

© L—#10x 2.5 PFH

WOOD SCREW

0.15"
C'SINK
(TYP.)

EXTERIOR

7“3\ VERTICAL CROSS SECTION

A\

\~ HEAD

ui

ENDURA WEATHERSTRIP

(QEBD/PE 650)

INTERIOR

w Outswing shown - inswing
also approved

SHIM SPACE

1/4" MAX.

EA i

2X FRAMING

EXT. SHEATHING 7

(G>=0.42) —\

L, JAMB

0.15"
~— C'SINK
(TYP)

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 650)

2177

INTERIOR

N

DRYWALL /

#8 X 2.5" PFH WOOD SCREW

=

#8 X 3/4" PFH SMS
/1 \ HORIZONTAL CROSS SECTION

\— #8 X 1" PFH SMS

EXTERIOR

4" HINGE

\SJ Inswing shown - Ouiswing also approved

i 9
¥ 4 4“2'?3 H
TS

.. %
5 o 3 el
/ / ¢ 21&

1 / / | TRILENNIUM %E:
T J SERIES 3000 MULTI-POINT
/// 4/ LOCKING SYSTEM -
/ /
> q =
CORNER PADS {TYP.)
(43 127
NI WX, i
ULTIMATE TRILENNIUM ASTRAGAL %‘é:
ENDURA WEATHERSTRIP
(QESD/PE 630) / PooRPAE DOOR PANEL
TRILENNIUM
_ NN 2 SERIES 3000 MULTIPOINT
z = \ LOCKING SYSTEM
AN
N

#8 X 1" PFH WSl \#IOXQ-]IQ" FH WS

@ HORIZONTAL CROSS SECTION
5

¥
aq
£¥ 0
Yo © 14
Ex o u
S .8z
[ 1] (S <]
e 27, 2
b .do
b -
S > Z
g 0® £
v 0o 5
£ T =
x Z5g® 9
2>m
go"
% amn® ¢
& o« F
O Xz
o 0 L
2 gmo o
c
a =g6 2
] 2 Ye %
& Do I
- E;—% @
3
©
@
E g
5 @%
o
o
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
HORIZONTAL
CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
LFS
BY

11/11/21IUPDATE TO 2018 IBC/IRC CODE
5/07/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS

10/08/18|ADD FLUSH GLAZING
10/27/16|ADDED THRESHOLDS

1

NO.) DATE

4

M N

REVISIONS

aE: 12/4/13

scAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4416

SHEET 5 ofF 7

© 2013 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD!I - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

A\ Y W\ I
INTERIOR EXTERIOR INTERIOR EXTERIOR u: & .
- - ENDURA 53 2 o
/DOOR PANEL OO PANEL WEATHERSTRIP Y/ DOOR PANEL ; Ex 8 %
QEBD/PE 650 INTERIOR EXTERIOR ] by S BT
ENDURA AN ( ) ENDURA // gf~: e 7. gl
DOOR SWEEP ENDURA INTERIOR : Ly SEO
(DBK-R) DOOR SWEEP WEATHERSTRIP. T Eﬁ@@; : s £ g g . ';! g:’
/1? (DBK-ZAC) / m@@ {(QEBD/PE 650) { HEE S 2 65
T 4 384 wg
\ ) % ow g__
= DOOR & o8 B
) o QXZ
\ ‘ = PANEL ; % &% by
c 2 295 gu
- oo 2
%) ] Al : g 8 8
E &K B8
8
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 2
- [
/" 1"\ VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION /"3 "\ VERTICAL CROSS SECTION fg\ XE:%T(CA; CRCTDhSS gegnou - &
Inswing Adjustable Threshold Inswing Articulating Threshold Outswing Bump Threshold uiswing bump Inresno o 0
W 9Ad \6/ w/ PingCapfure J w ° u a 3 8
= o X
] = ©
m — a =<
NG | A L
3 3 = o W
Nk ,..' o =
* i | g |F
| 456" | 456 | 4.56' ! | 456" | B s
1 }INSWING ADJUSTABLE THRESHOLD 2 | INSWING ADJUSTABLE THRESHOLD 3 }INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 )INSWING ADJUSTABLE THRESHOLD o
TAIL4565 ZAI4565FN TAILAA4565 ZAIAA4565FN TAI4565RDS by ﬂé
MAX. DESIGN PRESSURE = +40 PSF 3 %
[}
X =
T S| & |o
* ! [43] (29 wla [
‘:.0 = = [+] ~ 9-’ & 9
0 2 2 - g 30: é o
! ~ ij i e =
Dk
!‘ 4.56" "! 1 4,56" ! 4.56" I } 4_56" ! L—__ 4-56" _~______>_l g ﬁ EJ Z
Qlninio
INSWING ARTICULATING THRESHOLD 7")INSWING ARTICULATING THRESHOLD g ) INSWING ARTICULATING THRESHOLD 9 }INSWING ARTICULATING THRESHOLD 10 }INSWING ARTICULATING THRESHOLD 52122
6 IACLA565 ZACAS565EN IACLAA4565 IACAA4565FN ZACA4565RDS i g g )
MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = +30/-35 PSF MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = +30/-35 PSF MAX. DESIGN PRESSURE = +35 PSF SISRINE
(FLUSH GLAZING} (FLUSH GLAZING) NSRS
iR
—lo
= 4 D + D +iMPN >
i 5 I DATE: 12 / 4-/ 13
< < s scAE  N.T.S.
i i i we. B:  JK
. ‘ ' ' HK. BY: LFS
456" ! ! 4.56" | ! 4.5¢" ! !* 4.5¢6" ! gre:\(wms NO.:
17 QUISWING THRESHOLD 12} QUISWING THRESHOLD 13) QUISWING THRESHOLD 1) QUISWING THRESHOLD TX—4416
7OBL4565 Z0BA4565FN 70B4565RDS FOB4566

SHEET 6 oF 7

© 2013 R.W. BUILDING CONBULTANTS ING.



i . uj
Buwz 2X framing (by others) Astragal Strike Plate o q
g0 @ Head Jamb 38, Ea
20 & g% g 48
378 ~ 2 (rve,) AN
e (TYP.) 6 ' > ° L e
— = & T ™ ?_{ -y
$ = v % N 58 a2 1z
1] SEE HINGE AR T gb ZL8 60
T Tffﬂ' DETAIL 1 i \— ‘T #10X 2.5" PFH WS 205 %E
y #10X 2.5 PFH DETAL 1 . & SNy By
2 WOOD SCREW o o DETAIL 1 - Q8% u
o~ = [+3°5
& (TYP. @ HEAD CE — I
AND JAMBS) | g BoE %k
2 | j _ \ : D
= i \{ #8X2-1/2PFHWS | & & gg
N ® ) ‘/7 § 7
= " /. ; .\ < °
5 8 ¢ #8X1 PFHWSé:._=¢I> #8 X 3/4" PFH WS
3 | I ~f— 4"X 4" HINGE
3 SEE HINGE | \ o
H DETAIL 2 2
x
HINGE DETAIL 1 g Q
i EREE
= m <<
N . b o w
/ DETAIL 20R3 | % P #8 X 2-1/2" PFH WS @ %
P | : | A 5 gl -
| \\ e A& v ] "***”“"PFHWSéz,Ze S ge X34 PRHWS |2 iy
L. | 0. 0.
7 — 47X 4" HINGE
#10 X 2.5" PFH WOOD SCREW L\ [l | 4 o
4 (EPT.%( o 1/4" X 2-3/4" ELCO OR s S —
(TYP) = £ (1rp) ITW CONCRETE SCREW HINGE DETAIL 2 al |8
HINGE JAMB ¢ (TYP @ SILL) 8 | |&
0 0
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’)*(’XCHOR'NG gl | |z
CONCRETE {MIN. 3000 PSI) Slolw, i 0
WOOD (G >= 0.42) . olEl12IS 2
ogs . pes [}
NOTE: Additional anchors are required for D.P. > 40 PSF. Q 3 5 & =l
olgEl
SIFIE
TN} -]
CONCRETE ANCHOR NOTES: ) ) < : 8 2
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3/16" X 2-3/4" TW CONCRETE SCREW 5|3/9|2
edge distance to mortar joints. . OR ASTRAGAL PIN CAPTURE NEOR
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) }&S\“\u
maintain the min. edge distance fo mortar joints, additional concrete anchors ASTRAGAL STRIKE NNN Sl
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL 1/2" DIA. HOLE (IN CAP) b I N
\ : <oy %
)= A o\} _ L@ PAC) . o> o} DATE: 12/4/13
= scAE  N.T.S.
W owe. B:  JK
®
TAPCON 1-3/4" 1-1/2" " cHK. BY:  LFS
DeWALT / / /2"DIA-HOLE peral 2 DETAIL2 DETAIL 3 DRAWING NO.:
ULTRACONF| /4 1-3/4" 1 4 Outswing Inswing Inswing TX—4416
SHEET _7 OF 7

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-709 Plastpro FG Glazed\C - Drawings\TX-4415.16.dwg

© 2013 R.W. BUILDING CONSULTANTS IND.



